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J250/12 Paper 12 (Higher Tier)

If you wish to use the published question paper as practice material, please make the following
correction:

Turn to page 7 of the question paper and look at question 10.
Go to the question under the diagram and cross out ‘is’ between ‘station’ and ‘more’.
The line: Why is a CHP station is more efficient than a coal fired power station?

Should read:  Why is a CHP station more efficient than a coal fired power station?

If you have any queries, please call our Customer Support Centre on 01223 553998 or email
support@ocr.org.uk
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